Benjamins 1 - Lasseube 1 (I. Lendresse 2 (P. Orthez 1 (E. Navarrenx 2 (B. . sets | SetsEaBNes | | setsgagnés |t | classem
, Gan 1 (T. Artigau) .| moins sets . moins sets .
poule A Assad) Peyre) Bonnafoux) Urruty) gagneés perdus parties perdus/4 parties/4| ent
Lasseube 1 3 15 10 15 15 15 13 10 13 9 6 2 7 0,5 1,75 2
Lendresse 2 15 10 4 15 14 10 15 7 7 5 4 -3 5 -0,75 1,25 3
Orthez 1 8 5 5 15 6 15 15 8 3 3 -3 5 -0,75 1,25 4
Navarrenx 2 13 15 4 15 8 10 1 13 6 3 3 -4 5 -1 1,25 5
Gan 1 15 15 15 15 15 15 15 15 8 8 8 2 2 1
sets perdus 4 7 6 7 0
Benjamins 1 -| Lasseube 2 (M. Lasseube 3 (L. Lendresse 1 (E. | o\ M. Irles) Navarrenx 1 (A. | . (C. Tisnérat) | 5% S,::;::igf: points Sr::;::i:té: points | classem
poule B Pucheux) Hondet) Pellegrini) Lahut) gagnés | ordus parties perdus/5 parties/5( ent
Lasseube 2 15 15 15 15 15 13 10 15 4 10 15 15 10 8 10 1,6 2 1
Lasseube 3 2 1 10 1 7 2 2 1 15 15 2 -6 6 -1,2 1,2 5
Lendresse 1 6 12 15 15 15 15 15 15 15 15 8 6 9 1,2 1,8 2
Orthez 2 10 15 8 15 15 14 9 5 4 15 15 5 -1 7 -0,2 1,4 4
Navarrenx 1 8 15 6 15 15 11 11 15 15 15 15 7 3 8 0,6 1,6 3
Gan 2 1 0 7 8 8 10 5 9 1 0 0 -10 5 -2 1 6
sets perdus 2 8 2 6 4 10




